



Electronic Journal of Mathematical Analysis and Applications

Vol. 13(1) Jan. 2025, No.16.

ISSN: 2090-729X (online)

ISSN: 3009-6731(print)

<http://ejmaa.journals.ekb.eg/>

PROPERTIES OF A CERTAIN CLASS RELATED TO Q-DIFFERENCE OPERATOR

AYA F. ELKHATIB, ADELA O. MOSTAFA AND MOHAMMED M. THARWAT

ABSTRACT. In this paper, using an analytic univalent function of the form $f(z) = z + \sum_{k=2}^{\infty} a_k z^k$, that is defined in the open unit disk $U = \{z : |z| < 1\}$, Aouf et al. [3] operator $D_{q,\lambda}^n$ and Jackson q - derivative, we define a class of functions denoted by $R_q(n, \xi, \alpha, \beta, \lambda)$, which for different values of its parameters many special new classes can be obtained from it. For this class of functions, we obtained some of its properties such as coefficient estimates, neighborhood of function and the modified Hadamard product of two functions in it and also for function which its coefficients are the sum of the squares of the coefficients of two functions. Key results demonstrate the influence of the Aouf et al. [3] operator on the univalence, growth theorems and distortion properties for this class of functions. Also we obtained analogue results of these results for each of the subclasses obtained from this class.

1. Introduction

Denote the class of analytic univalent function

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k \quad (1)$$

by A , $z \in U = \{z : |z| < 1\}$ and $\tau \subset A$ such that

$$f(z) = z - \sum_{k=2}^{\infty} a_k z^k \quad (a_k \geq 0). \quad (2)$$

Using the Jackson q - derivative [5], Aouf et al. [3] defined

2020 *Mathematics Subject Classification.* :30C45, 30C50, 30C55.

Key words and phrases. Univalent functions, coefficient estimates, distortion theorems, modified Hadamard product, q -difference operator.

Submitted March 23, 2024. Revised July 19, 2024.

the operator

$$D_{q,\lambda}^n f(z) = z + \sum_{k=2}^{\infty} \left[1 + ([k]_q - 1) \lambda \right]^n a_k z^k \quad (n \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}), \quad (3)$$

where $[k]_q = \frac{1-q^k}{1-q}$, which for $q \rightarrow 1^-$ reduces to Al-Oboudi operator [1] and for $q \rightarrow 1^-$ and $\lambda = 1$, we get Sălăgean operator [11], also for $\lambda = 1$, we get the q -Sălăgean operator [2].

For $f(z) \in \tau$, let $R_q(n, \xi, \alpha, \beta, \lambda)$ be the class of functions satisfying

$$\left| \frac{\frac{z \partial_q (D_{q,\lambda}^n f(z))}{D_{q,\lambda}^n f(z)} - 1}{2\xi \left(\frac{z \partial_q (D_{q,\lambda}^n f(z))}{D_{q,\lambda}^n f(z)} - \alpha \right) - \left(\frac{z \partial_q (D_{q,\lambda}^n f(z))}{D_{q,\lambda}^n f(z)} - 1 \right)} \right| < \beta, \quad (4)$$

$$0 \leq \alpha < \frac{1}{2\xi}, \quad 0 < \beta \leq 1, \quad \frac{1}{2} \leq \xi \leq 1, \quad n \in \mathbb{N}_0 \text{ and } z \in U.$$

For different values of $n, \beta, \xi, \alpha, \lambda$ and $q \rightarrow 1^-$, we have:

- (i) $R(0, 1, 0, 1, \lambda) = S^*$ is precisely the class of starlike functions in U ;
- (ii) $R(0, 1, \alpha, 1, \lambda)$ is the class of starlike functions of order α ($0 \leq \alpha < 1$);
- (iii) $R(0, \frac{\sigma+1}{2}, 0, \beta, 0)$ be the class studied by Lakshminarayanan [7];
- (iv) $R(0, \xi, \alpha, \beta, 0)$ be the class studied by Kulkarni [6].

Also we have:

- (i) $R_q(n, 1, \alpha, 1, \lambda) = R_q^n(\alpha, \lambda) = \left\{ f \in \tau : \operatorname{Re} \left\{ \frac{z \partial_q (D_{q,\lambda}^n f(z))}{D_{q,\lambda}^n f(z)} \right\} > \alpha \right\};$
- (ii) $R_q(n, 1, \alpha, \beta, \lambda) = R_q^n(\alpha, \beta, \lambda) = \left\{ f \in \tau : \left| \frac{\frac{z \partial_q (D_{q,\lambda}^n f(z))}{D_{q,\lambda}^n f(z)} - 1}{\frac{z \partial_q (D_{q,\lambda}^n f(z))}{D_{q,\lambda}^n f(z)} - \alpha} \right| < \beta \right\};$
- (iii) The class $R_q(0, \xi, \alpha, \beta, \lambda) = R^*(\xi, \alpha, \beta) =$

$$\left\{ f \in \tau : \left| \frac{\frac{z \partial_q f(z)}{f(z)} - 1}{2\xi \left(\frac{z \partial_q f(z)}{f(z)} - \alpha \right) - \left(\frac{z \partial_q f(z)}{f(z)} - 1 \right)} \right| < \beta \right\}.$$

2. Characterizations for the class $R_q(n, \xi, \alpha, \beta, \lambda)$

Theorem 2.1. The function $f \in R_q(n, \xi, \alpha, \beta, \lambda)$ if and only if

$$\sum_{k=2}^{\infty} \left[1 + ([k]_q - 1) \lambda \right]^n \left[([k]_q - 1)(1 - \beta) + 2\xi([k]_q - \alpha) \right] a_k \leq 2\xi(1 - \alpha). \quad (5)$$

Proof. Assume that (5) is true. We have

$$\begin{aligned}
 & \left| z \partial_q (D_{q,\lambda}^n f(z)) - D_{q,\lambda}^n f(z) \right| - \beta \left| 2\xi (z \partial_q (D_{q,\lambda}^n f(z)) - \alpha D_{q,\lambda}^n f(z)) \right. \\
 & \left. - [z \partial_q (D_{q,\lambda}^n f(z)) - D_{q,\lambda}^n f(z)] \right| = \left| \sum_{k=2}^{\infty} \left[1 + ([k]_q - 1) \lambda \right]^n ([k]_q - 1) a_k z^k \right| \\
 & - \beta \left| 2\xi(1 - \alpha) - 2\xi \sum_{k=2}^{\infty} ([k]_q - \alpha) \left[1 + ([k]_q - 1) \lambda \right]^n a_k z^k \right. \\
 & \left. + \sum_{k=2}^{\infty} ([k]_q - 1) \left[1 + ([k]_q - 1) \lambda \right]^n a_k z^k \right| \\
 & \leq \left[\sum_{k=2}^{\infty} \left[1 + ([k]_q - 1) \lambda \right]^n \left[([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \alpha) \right] a_k - 2\beta\xi(1 - \alpha) \right] \leq 0.
 \end{aligned}$$

Hence, by the maximum modulus theorem, we have $f \in R_q(n, \xi, \alpha, \beta, \lambda)$.

Conversely, let $f \in R_q(n, \xi, \alpha, \beta, \lambda)$. Then

$$\begin{aligned}
 & \left| \frac{\frac{z \partial_q (D_{q,\lambda}^n f(z))}{D_{q,\lambda}^n f(z)} - 1}{2\xi \left(\frac{z \partial_q (D_{q,\lambda}^n f(z))}{D_{q,\lambda}^n f(z)} - \alpha \right) - \left(\frac{z \partial_q (D_{q,\lambda}^n f(z))}{D_{q,\lambda}^n f(z)} - 1 \right)} \right| = \\
 & \left| \frac{\sum_{k=2}^{\infty} [1 + ([k]_q - 1) \lambda]^n ([k]_q - 1) a_k z^{k-1}}{2\xi(1 - \alpha) - 2\xi \sum_{k=2}^{\infty} ([k]_q - \alpha) [1 + ([k]_q - 1) \lambda]^n a_k z^{k-1} + \sum_{k=2}^{\infty} ([k]_q - 1) [1 + ([k]_q - 1) \lambda]^n a_k z^{k-1}} \right| < \beta.
 \end{aligned}$$

Since $Re(z) < |z|$ for all z , we obtain

$$Re \left\{ \frac{\sum_{k=2}^{\infty} [1 + ([k]_q - 1) \lambda]^n ([k]_q - 1) a_k z^{k-1}}{2\xi(1 - \alpha) - 2\xi \sum_{k=2}^{\infty} ([k]_q - \alpha) [1 + ([k]_q - 1) \lambda]^n a_k z^{k-1} + \sum_{k=2}^{\infty} ([k]_q - 1) [1 + ([k]_q - 1) \lambda]^n a_k z^{k-1}} \right\} < \beta.$$

Let $z \rightarrow 1^-$ through real values, so we have (5).

Corollary 2.1. For $f \in R_q(n, \xi, \alpha, \beta, \lambda)$, we have

$$a_k \leq \frac{2\beta\xi(1 - \alpha)}{\left[([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \alpha) \right] [1 + ([k]_q - 1) \lambda]^n} \quad (k \geq 2). \quad (6)$$

The result is sharp for

$$f(z) = z - \frac{2\beta\xi(1 - \alpha)}{\left[([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \alpha) \right] [1 + ([k]_q - 1) \lambda]^n} z^k \quad (k \geq 2). \quad (7)$$

In the following theorem we prove the distortion results.

Theorem 2.2. Let $f \in R_q(n, \xi, \alpha, \beta, \lambda)$, then for $|z| \leq r < 1$ and $0 \leq i \leq n$, we have

$$r - r^2 \frac{2\beta\xi(1 - \alpha)}{(1 + q\lambda)^{n-i} \left[q(1 - \beta) + 2\beta\xi([2]_q - \alpha) \right]} \quad (8)$$

$$\leq |D_{q,\lambda}^i f(z)| \leq r + r^2 \frac{2\beta\xi(1-\alpha)}{(1+q\lambda)^{n-i} [q(1-\beta) + 2\beta\xi([2]_q - \alpha)]},$$

the above bounds are sharp.

Proof. Note that $f \in R_q(n, \xi, \alpha, \beta, \lambda)$ if and only if $D_{q,\lambda}^i f(z) \in R_q(n-i, \xi, \alpha, \beta, \lambda)$ and

$$D_{q,\lambda}^i f(z) = z - \sum_{k=2}^{\infty} \left[1 + ([k]_q - 1)\lambda\right]^i a_k z^k.$$

By Theorem 2.1, we have

$$\begin{aligned} & (1+q\lambda)^{n-i} [q(1-\beta) + 2\beta\xi([2]_q - \alpha)] \sum_{k=2}^{\infty} \left[1 + ([k]_q - 1)\lambda\right]^i a_k \\ & \leq \sum_{k=2}^{\infty} \left[1 + ([k]_q - 1)\lambda\right]^n [([k]_q - 1)(1-\beta) + 2\beta\xi([k]_q - \alpha)] a_k \\ & \leq 2\beta\xi(1-\alpha), \end{aligned}$$

then

$$\sum_{k=2}^{\infty} \left[1 + ([k]_q - 1)\lambda\right]^i a_k \leq \frac{2\beta\xi(1-\alpha)}{(1+\lambda q)^{n-i} [(1-\beta)q + 2\beta\xi(1-\alpha)]}.$$

Hence

$$\begin{aligned} |D_{q,\lambda}^i f(z)| & \leq |z| + |z|^2 \sum_{k=2}^{\infty} \left[1 + ([k]_q - 1)\lambda\right]^i a_k \\ & \leq r + r^2 \frac{2\beta\xi(1-\alpha)}{[q(1-\beta) + 2\beta\xi([2]_q - \alpha)] (1+\lambda q)^{n-i}} \end{aligned}$$

and

$$\begin{aligned} |D_{q,\lambda}^i f(z)| & \geq r - r^2 \sum_{k=2}^{\infty} \left[1 + ([k]_q - 1)\lambda\right]^i a_k \geq \\ & r - r^2 \frac{2\beta\xi(1-\alpha)}{(1+\lambda q)^{n-i} [q(1-\beta) + 2\beta\xi([2]_q - \alpha)]}, \end{aligned}$$

thus (8) is true. The result is sharp for the function $f(z)$ defined by

$$f(z) = z - \frac{2\beta\xi(1-\alpha)}{[q(1-\beta) + 2\beta\xi([2]_q - \alpha)]} z^2, z = \mp r.$$

For $i = 0$ in Theorem 2.2, we get:

Corollary 2.2. For $f \in R_q(n, \xi, \alpha, \beta, \lambda)$, we have

$$\begin{aligned} & r - \frac{2\beta\xi(1-\alpha)}{[q(1-\beta) + 2\beta\xi([2]_q - \alpha)] (1+\lambda q)^n} r^2 \\ & \leq |f(z)| \leq r + \frac{2\beta\xi(1-\alpha)}{[q(1-\beta) + 2\beta\xi([2]_q - \alpha)] (1+\lambda q)^n} r^2. \end{aligned}$$

Theorem 2.3. The set $R_q(n, \xi, \alpha, \beta, \lambda)$ is convex set.

proof. Let $f_i(z) = z - \sum_{k=2}^{\infty} a_{k,i} z^k$ ($i = 1, 2$) belong to $R_q(n, \xi, \alpha, \beta, \lambda)$ and let $g(z) = \varsigma_1 f_1(z) + \varsigma_2 f_2(z)$, with $\varsigma_1, \varsigma_2 > 0$ and $\varsigma_1 + \varsigma_2 = 1$, we can write

$$g(z) = z - \sum_{k=2}^{\infty} (\varsigma_1 a_{k,1} + \varsigma_2 a_{k,2}) z^k.$$

It is sufficient to show that $g(z) \in R_q(n, \xi, \alpha, \beta, \lambda)$, we have

$$\begin{aligned} & \sum_{k=2}^{\infty} \left[1 + \left([k]_q - 1 \right) \lambda \right]^n \left[([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \alpha) \right] (\varsigma_1 a_{k,1} + \varsigma_2 a_{k,2}) \\ &= \varsigma_1 \sum_{k=2}^{\infty} \left[1 + \left([k]_q - 1 \right) \lambda \right]^n \left[([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \alpha) \right] a_{k,1} \\ &+ \varsigma_2 \sum_{k=2}^{\infty} \left[1 + \left([k]_q - 1 \right) \lambda \right]^n \left[([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \alpha) \right] a_{k,2} \\ &\leq \varsigma_1 [2\beta\xi(1 - \alpha)] + \varsigma_2 [2\beta\xi(1 - \alpha)] = (\varsigma_1 + \varsigma_2) [2\beta\xi(1 - \alpha)] = 2\beta\xi(1 - \alpha). \end{aligned}$$

Thus $g(z) \in R_q(n, \xi, \alpha, \beta, \lambda)$.

We obtained the extreme points in the following theorem.

Theorem 2.4. Let $f_1(z) = z$ and

$$f_k(z) = z - \frac{2\beta\xi(1 - \alpha)}{\left[1 + \left([k]_q - 1 \right) \lambda \right]^n \left[([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \alpha) \right]} z^k \quad (k \geq 2),$$

then $f(z) \in R_q(n, \xi, \alpha, \beta, \lambda)$ if and only if it can be expressed in the form

$$f(z) = \sum_{k=1}^{\infty} \gamma_k f_k(z), \text{ where } \gamma_k \geq 0 \text{ and } \sum_{k=1}^{\infty} \gamma_k = 1 \text{ or } \gamma_1 + \sum_{k=2}^{\infty} \gamma_k = 1.$$

Proof. Let $f(z) = \sum_{k=1}^{\infty} \gamma_k f_k(z)$. Thus

$$f(z) = z - \sum_{k=2}^{\infty} \frac{2\beta\xi(1 - \alpha)}{\left[1 + \left([k]_q - 1 \right) \lambda \right]^n \left[([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \alpha) \right]} \gamma_k z^k,$$

thus

$$\begin{aligned} & \sum_{k=2}^{\infty} \frac{\left[1 + \left([k]_q - 1 \right) \lambda \right]^n \left[([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \alpha) \right]}{2\beta\xi(1 - \alpha)} \times \\ & \frac{2\beta\xi(1 - \alpha)\gamma_k}{\left[1 + \left([k]_q - 1 \right) \lambda \right]^n \left[([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \alpha) \right]} \\ &= \sum_{k=2}^{\infty} \gamma_k = 1 - \gamma_1 \leq 1. \end{aligned}$$

In view of Theorem 2.1, $f(z) \in R_q(n, \xi, \alpha, \beta, \lambda)$. Conversely suppose $f(z) \in R_q(n, \xi, \alpha, \beta, \lambda)$, then

$$a_k \leq \frac{2\beta\xi(1 - \alpha)}{\left[1 + \left([k]_q - 1 \right) \lambda \right]^n \left[([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \alpha) \right]} \quad (k \geq 2).$$

Putting

$$\gamma_k = \frac{\left[1 + \left([k]_q - 1\right) \lambda\right]^n \left([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \alpha)\right]}{2\beta\xi(1 - \alpha)} a_k$$

and $\gamma_1 = 1 - \sum_{k=2}^{\infty} \gamma_k$, then we have $f(z) = \gamma_1 f_1(z) + \sum_{k=2}^{\infty} \gamma_k f_k(z)$.

3. Neighborhood and Hadamard product

Definition 3.1. For $\gamma \geq 0$ Aouf et al. [2] defined the k, q, γ neighborhood of function $f(z) \in \tau$ by (see [8, 9]):

$$N_{k,q,\gamma}(f; g) = \left\{ g \in \tau : g(z) = z - \sum_{k=2}^{\infty} b_k z^k \text{ and } \sum_{k=2}^{\infty} [k]_q |a_k - b_k| \leq \gamma_q \right\} \quad (9)$$

and for $e(z) = z$,

$$N_{k,q,\gamma}(e; g) = \left\{ g \in \tau : g(z) = z - \sum_{k=2}^{\infty} b_k z^k \text{ and } \sum_{k=2}^{\infty} [k]_q |b_k| \leq \gamma_q \right\}. \quad (10)$$

Note that when $q \rightarrow 1^-$ in Definition 3.1, we have the definition for Goodman [4] and Ruscheweyh [10].

Now, we get some neighborhood results.

Theorem 3.1. Let

$$\gamma_q = \frac{2[2]_q \beta \xi(1 - \alpha)}{[1 + q\lambda]^n \left[q(1 - \beta) + 2\beta\xi([2]_q - \alpha)\right]},$$

then $R_q(n, \xi, \alpha, \beta, \lambda) \subset N_{k,\gamma_q}(e)$.

Proof. Let $f \in R_q(n, \xi, \alpha, \beta, \lambda)$, then we have

$$\begin{aligned} & \frac{\left[(1 - \beta)q + 2\beta\xi([2]_q - \alpha)\right] (1 + q\lambda)^n}{[2]_q} \sum_{k=2}^{\infty} [k]_q a_k \\ & \leq \sum_{k=2}^{\infty} \left[1 + \left([k]_q - 1\right) \lambda\right]^n \left([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \alpha)\right] a_k \\ & \leq 2\beta\xi(1 - \alpha), \end{aligned}$$

therefore,

$$\sum_{k=2}^{\infty} [k]_q a_k \leq \frac{2[2]_q \beta \xi(1 - \alpha)}{(1 + q\lambda)^n \left[(1 - \beta)q + 2\beta\xi([2]_q - \alpha)\right]}, \quad (11)$$

then from (11), $f \in N_{k,\gamma_q}(e)$.

Theorem 3.2. Let $g \in R_q(n, \xi, \alpha, \beta, \lambda)$ and $\zeta = 1 - \frac{\gamma_q}{[2]_q} d(n, \xi, \alpha, \beta, \lambda)$.

Then $N_{k, \gamma_q}(g) \subset R_q(n, \xi, \alpha, \beta, \lambda, \zeta)$, where

$$d(n, \xi, \alpha, \beta, \lambda) = \frac{(1 + q\lambda)^n \left[(1 - \beta)q + 2\beta\xi([2]_q - \alpha) \right]}{(1 + q\lambda)^n \left[(1 - \beta)q + 2\beta\xi([2]_q - \alpha) \right] - 2\beta\xi(1 - \alpha)}.$$

Proof. Let $f \in N_{k, \gamma_q}(g)$. Then by (9), we have

$$\sum_{k=2}^{\infty} [k]_q |a_k - b_k| \leq \gamma_q, \text{ then } \sum_{k=2}^{\infty} |a_k - b_k| \leq \frac{\gamma_q}{[2]_q}.$$

Since $g \in R_q(n, \xi, \alpha, \beta, \lambda)$, we have

$$\begin{aligned} \sum_{k=2}^{\infty} b_k &\leq \frac{2\beta\xi(1 - \alpha)}{(1 + q\lambda)^n \left[(1 - \beta)q + 2\beta\xi([2]_q - \alpha) \right]}, \\ \left| \frac{f(z)}{g(z)} - 1 \right| &< \frac{\sum_{k=2}^{\infty} |a_k - b_k|}{1 - \sum_{k=2}^{\infty} b_k} \\ &\leq \frac{\gamma_q}{[2]_q} \left(\frac{(1 + q\lambda)^n \left[(1 - \beta)q + 2\beta\xi([2]_q - \alpha) \right]}{(1 + q\lambda)^n \left[(1 - \beta)q + 2\beta\xi([2]_q - \alpha) \right] - 2\beta\xi(1 - \alpha)} \right) \\ &= \frac{\gamma_q}{[2]_q} d(n, \xi, \alpha, \beta, \lambda) = 1 - \zeta, \end{aligned}$$

then $f \in R_q(n, \xi, \alpha, \beta, \lambda, \zeta)$.

In the next theorem, we get some Hadamard product results.

Theorem 3.3. Let $f(z)$ and $g(z) \in R_q(n, \xi, \alpha, \beta, \lambda)$ such that

$$f(z) = z - \sum_{k=2}^{\infty} a_k z^k \text{ and } g(z) = z - \sum_{k=2}^{\infty} b_k z^k,$$

then the Hadamard product $(f * g)(z)$ is defined by

$$(f * g)(z) = z - \sum_{k=2}^{\infty} a_k b_k z^k$$

is in the subclass $R_q(n, \xi, \sigma, \beta, \lambda)$, where

$$\sigma = 1 - \frac{q\xi\beta(1 - \alpha)^2}{(1 + q\lambda)^n \left[q(1 - \beta) + 2\beta\xi([2]_q - \alpha) \right]^2 - 4\beta^2\xi^2(1 - \alpha)^2}.$$

Proof. Employing the method of Seild and Silverman [12], we have

$$\sum_{k=2}^{\infty} \frac{\left[1 + \left([k]_q - 1 \right) \lambda \right]^n \left[\left([k]_q - 1 \right) (1 - \beta) + 2\beta\xi([k]_q - \alpha) \right]}{2\beta\xi(1 - \alpha)} a_k \leq 1 \quad (12)$$

and

$$\sum_{k=2}^{\infty} \frac{\left[1 + \left([k]_q - 1 \right) \lambda \right]^n \left[\left([k]_q - 1 \right) (1 - \beta) + 2\beta\xi([k]_q - \alpha) \right]}{2\beta\xi(1 - \alpha)} b_k \leq 1.$$

We have only to find the largest σ such that

$$\prod_{k=2}^{\infty} \frac{\left[1 + ([k]_q - 1)\lambda\right]^n \left[([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \sigma)\right]}{2\beta\xi(1 - \sigma)} a_k b_k \leq 1. \quad (13)$$

Now, by Cauchy-Schwarz inequality, we obtain

$$\prod_{k=2}^{\infty} \frac{\left[1 + ([k]_q - 1)\lambda\right]^n \left[([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \alpha)\right]}{2\beta\xi(1 - \alpha)} \sqrt{a_k b_k} \leq 1, \quad (14)$$

we need only to show that

$$\begin{aligned} & \frac{\left[1 + ([k]_q - 1)\lambda\right]^n \left[([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \sigma)\right]}{2\beta\xi(1 - \sigma)} a_k b_k \\ & \leq \frac{\left[1 + ([k]_q - 1)\lambda\right]^n \left[([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \alpha)\right]}{2\beta\xi(1 - \alpha)} \sqrt{a_k b_k}, \end{aligned}$$

equivalently,

$$\begin{aligned} \sqrt{a_k b_k} & \leq \frac{2\beta\xi(1 - \sigma)}{\left[1 + ([k]_q - 1)\lambda\right]^n \left[([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \sigma)\right]} \times \\ & \quad \frac{\left[1 + ([k]_q - 1)\lambda\right]^n \left[([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \alpha)\right]}{2\beta\xi(1 - \alpha)}, \end{aligned}$$

then

$$\sqrt{a_k b_k} \leq \frac{(1 - \sigma) \left[([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \alpha)\right]}{(1 - \alpha) \left[([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \sigma)\right]} \quad (k \geq 2).$$

But from (14), we have

$$\sqrt{a_k b_k} \leq \frac{2\beta\xi(1 - \alpha)}{\left[1 + ([k]_q - 1)\lambda\right]^n \left[([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \alpha)\right]}.$$

Consequently, we need to prove that

$$\begin{aligned} & \frac{2\beta\xi(1 - \alpha)}{\left[1 + ([k]_q - 1)\lambda\right]^n \left[([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \alpha)\right]} \\ & \leq \frac{(1 - \sigma) \left[([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \alpha)\right]}{(1 - \alpha) \left[([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \sigma)\right]} \quad (k \geq 2). \end{aligned}$$

Or, equivalently, that

$$\sigma \leq 1 -$$

$$\frac{\left([k]_q - 1\right) \xi \beta (1 - \alpha)^2}{\left[1 + ([k]_q - 1)\lambda\right]^n \left[([k]_q - 1)(1 - \beta) + 2\beta\xi([k]_q - \alpha)\right]^2 - 4\beta^2 \xi^2 (1 - \alpha)^2},$$

$$\Phi(k) = 1 -$$

$$\frac{\left([k]_q - 1\right) \xi \beta (1 - \alpha)^2}{\left[1 + \left([k]_q - 1\right) \lambda\right]^n \left[\left([k]_q - 1\right) (1 - \beta) + 2\beta \xi ([k]_q - \alpha)\right]^2 - 4\beta^2 \xi^2 (1 - \alpha)^2}, \quad (15)$$

is an increasing function of k ($k \geq 2$), letting $k = 2$ in (15), we obtain

$$\sigma \leq \Phi(2) = 1 - \frac{q \xi \beta (1 - \alpha)^2}{(1 + q \lambda)^n \left[q(1 - \beta) + 2\beta \xi ([2]_q - \alpha)\right]^2 - 4\beta^2 \xi^2 (1 - \alpha)^2},$$

Theorem 3.4. Let $f(z) \in R_q(n, \xi, \alpha, \beta, \lambda)$ and $c > -1$ be real number, then the function

$$G(z) = \frac{[c+1]_q}{z^c} \int_0^z s^{c-1} f(s) d_q s, \quad c > -1,$$

also belongs to $R_q(n, \xi, \alpha, \beta, \lambda)$.

Proof. By virtue of $G(z)$ it follows from (2) that

$$G(z) = z^{-\infty}_{k=2} \left(\frac{[c+1]_q}{[c+k]_q} \right) a_k z^k.$$

But

$$\sum_{k=2}^{\infty} \frac{\left[1 + \left([k]_q - 1\right) \lambda\right]^n \left[\left([k]_q - 1\right) (1 - \beta) + 2\beta \xi ([k]_q - \alpha)\right]}{2\beta \xi (1 - \alpha)} \left(\frac{[c+1]_q}{[c+k]_q} \right) a_k \leq 1,$$

since $\frac{[c+1]_q}{[c+k]_q} \leq 1$ and by Theorem 2.1, so the proof is completed.

Theorem 3.5. Let $f(z) \in R_q(n, \xi, \alpha, \beta, \lambda)$ and

$$F\mu(z) = (1 - \mu)z + \mu \int_0^z \frac{f(s)}{s} d_q s \quad (\mu \geq 0, z \in U).$$

Then $F\mu(z) \in R_q(n, \xi, \alpha, \beta, \lambda)$ if $0 \leq \mu \leq [2]_q$.

Proof. Let f defined by (2), then

$$F\mu(z) = (1 - \mu)z + \mu \int_0^z \left(\frac{s^{-\infty}_{k=2} a_k s^k}{s} \right) d_q s = z^{-\infty}_{k=2} \frac{\mu}{[k]_q} a_k z^k.$$

By Theorem 2.1 and since $\left(\frac{\mu}{[2]_q} \leq 1\right)$, we have

$$\begin{aligned} & \sum_{k=2}^{\infty} \frac{\left[1 + \left([k]_q - 1\right) \lambda\right]^n \left[\left([k]_q - 1\right) (1 - \beta) + 2\beta \xi ([k]_q - \alpha)\right]}{2\beta \xi (1 - \alpha)} \left(\frac{\mu}{[k]_q} \right) a_k \\ & \leq \sum_{k=2}^{\infty} \frac{\left[1 + \left([k]_q - 1\right) \lambda\right]^n \left[\left([k]_q - 1\right) (1 - \beta) + 2\beta \xi ([k]_q - \alpha)\right]}{2\beta \xi (1 - \alpha)} \left(\frac{\mu}{[2]_q} \right) a_k \leq 1, \end{aligned}$$

then $F\mu(z) \in R_q(n, \xi, \alpha, \beta, \lambda)$.

Theorem 3.6. If $f_j(z) \in R_q(n, \xi, \alpha, \beta, \lambda)$ ($j = 1, 2$). Then

$$h(z) = z - \sum_{k=2}^{\infty} (a_{k,1}^2 + a_{k,2}^2) z^k,$$

belongs to the class $R_q(n, \xi, \vartheta, \beta, \lambda)$, where

$$\vartheta = 1 - \frac{4\beta\xi q(1-\alpha)^2(1-\beta)}{[1+q\lambda]^n \left[q(1-\beta) + 2\beta\xi([2]_q - \alpha) \right]^2 - 8\beta^2\xi^2(1-\alpha)^2}.$$

Proof. By virtue of Theorem 2.1, we obtain

$$\begin{aligned} & \sum_{k=2}^{\infty} \left[\frac{[1 + ([k]_q - 1)\lambda]^n \left[([k]_q - 1)(1-\beta) + 2\beta\xi([k]_q - \alpha) \right]}{2\beta\xi(1-\alpha)} \right]^2 a_{k,j}^2 \\ & \leq \left[\sum_{k=2}^{\infty} \frac{[1 + ([k]_q - 1)\lambda]^n \left[([k]_q - 1)(1-\beta) + 2\beta\xi([k]_q - \alpha) \right]}{2\beta\xi(1-\alpha)} a_{k,j} \right]^2 \\ & \sum_{k=2}^{\infty} \left[\frac{[1 + ([k]_q - 1)\lambda]^n \left[([k]_q - 1)(1-\beta) + 2\beta\xi([k]_q - \alpha) \right]}{2\beta\xi(1-\alpha)} \right]^2 a_{k,j}^2 \\ & \leq 1 \quad (j = 1, 2). \end{aligned}$$

It follows that

$$\sum_{k=2}^{\infty} \frac{1}{2} \frac{[1 + ([k]_q - 1)\lambda]^{2n} \left[([k]_q - 1)(1-\beta) + 2\beta\xi([k]_q - \alpha) \right]^2}{4\beta^2\xi^2(1-\alpha)^2} (a_{k,1}^2 + a_{k,2}^2) \leq 1$$

Therefore, we need to find the largest ϑ such that

$$\begin{aligned} & \frac{[([k]_q - 1)(1-\beta) + 2\beta\xi([k]_q - \vartheta)]}{1-\vartheta} \leq \\ & \frac{1}{2} \frac{[1 + ([k]_q - 1)\lambda]^n \left[([k]_q - 1)(1-\beta) + 2\beta\xi([k]_q - \alpha) \right]^2}{2\beta\xi(1-\alpha)^2} \quad (k \geq 2) \end{aligned}$$

that is,

$$\vartheta \leq 1 -$$

$$\frac{4\beta\xi(1-\alpha)^2([k]_q - 1)(1-\beta)}{[1 + ([k]_q - 1)\lambda]^n \left[([k]_q - 1)(1-\beta) + 2\beta\xi([k]_q - \alpha) \right]^2 - 8\beta^2\xi^2(1-\alpha)^2} \quad (k \geq 2).$$

Since

$$\varphi(k) = 1 -$$

$$\frac{4\beta\xi(1-\alpha)^2([k]_q-1)(1-\beta)}{\left[1 + \left([k]_q-1\right)\lambda\right]^n \left[\left([k]_q-1\right)(1-\beta) + 2\beta\xi([k]_q-\alpha)\right]^2 - 8\beta^2\xi^2(1-\alpha)^2},$$

is an increasing function of k ($k \geq 2$), setting $k = 2$, we readily have

$$\vartheta \leq \varphi(2) = 1 - \frac{4\beta\xi q(1-\alpha)^2(1-\beta)}{[1 + q\lambda]^n \left[q(1-\beta) + 2\beta\xi([2]_q-\alpha)\right]^2 - 8\beta^2\xi^2(1-\alpha)^2}.$$

The functions $f_j(z)$ given by (15), give the sharpness.

Remark 1. For different values of n, ξ, α, β and λ in our results, we have results for the special classes defined in the introduction.

Acknowledgements

The authors wish to thank the referees for their valuable comments and helpful suggestions.

REFERENCES

- [1] F. M. Al -Oboudi, On univalent functions defined by generalized Sălăgean operator, Int. J. Math. Math. Sci., 2004 (2004), no. 27, 1429 – 1436.
- [2] M. K. Aouf, A.O. Mostafa and F. Y. Al-Quhali, Properties for class of uniformly univalent functions defined by Sălăgean type q-difference operator, Int. J. Open Prob. Com. Anal., 11 (2019), no. 2, 1 – 16.
- [3] M. K. Aouf, A. O. Mostafa and R. E. Elmorsy, Certain subclasses of analytic functions with varying arguments associated with q-difference operator, Afr. Mat., 32 (2021), no. 3, 621 – 630.
- [4] A. W. Goodman, Univalent functions and nonanalytic curves, Proc. Amer. Math. Soc., 8 (1957), 598 – 601.
- [5] F. H. Jackson, On q-functions and a certain difference operator, Trans. R. Soc. Edinb., 46 (1908), 64 – 72.
- [6] S.R. Kulkarni, Some problems connected with univalent functions, Ph. D. Thesis (1981, Shivaji University, Kolhapur (unpublished)).
- [7] T. V. Lakshminarsimhan, On subclasses of functions starlike in the unit disc, J. Indian Math. Soc. (N.S.), 41 (1977), 233 – 243.
- [8] A. O. Mostafa and Z. M. Saleh, Properties for subclasses of starlike function associated with q-analogue operator and complex order, Acta Univ. Apulensis Math. Inform., 20 (2021), 1 – 13.
- [9] M. A. Mowafy, A. O. Mostafa and S. M. Madian, Properties for a class related to fractional differential operator, Acta Univ. Apulensis Math. Inform., 73 (2023), 69 – 82.
- [10] S.T. Ruscheweyh, Neighbourhood of univalent functions, Proc. Amer. Math. Soc., 81 (1981), 521 – 527.
- [11] G. Sălăgean, Subclasses of univalent functions, Lect. Notes in Math., Springer-Verlag, 1013 (1983), 362 – 372.
- [12] A. Schild and H. Silverman, Convolution of univalent functions with negative coefficients, Ann. Univ. Mariae Curie-Skłodowska Sect. A, 29 (1975), 99 – 106.

AYA F. ELKHATIB, MATHEMATICS AND COMPUTER SCIENCE DEPARTMENT, FACULTY OF SCIENCE,, BENI-SUEF UNIVERSITY, BENI-SUEF, EGYPT
Email address: ayafaried49@gmail.com

ADELA O. MOSTAFA, DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE, MANSURA UNIVERSITY, MANSURA, EGYPT

Email address: `adelaeg254@yahoo.com`

MOHAMMED M. THARWAT, MATHEMATICS AND COMPUTER SCIENCE DEPARTMENT, FACULTY OF SCIENCE,, BENI-SUEF UNIVERSITY, BENI-SUEF, EGYPT

Email address: `zahraa26@yahoo.com`